NOVA SKOLA - 5P - Uvazuiji, odhaduji, po¢itdm

10.09 - 4
Séitani pFirozenych ¢€isel
A. 59000+ 57000= 490 000 + 46 000 = 290 000 +550 000 =
69 000 + 4300 = 590 000 + 7600 = 990 000 + 25 000 =
98 000+ 5700= 180 000 + 83 000 = 780 000 +830 000 =
69 000 + 25000 = 690 000 + 66 000 = 980 000 + 660 000 =
1000-4
Séitani p firozenych ¢isel
B. 39000+ 27000= 190 000 + 36 000 = 890 000 +440 000 =
69 000 + 35000 = 190 000 + 47 000 = 690 000 + 740 000 =
88 000 + 25000 = 990 000 + 24 000 = 590 000 + 640 000 =
19000 + 16 000 = 790 000+ 4600= 380 000 + 37 000 =
1000-4
Séitani pFirozenych ¢€isel
C. 59000+ 17000 = 690 000 + 43 000 = 290 000 + 66 000 =
99 000 + 55 000 = 190 000 + 1700 = 980 000 +450 000 =
78 000 + 67 000 = 380 000 + 43 000 = 680 000 +170 000 =
69 000 + 37 000 = 780 000 + 26 000 = 790 000 +630 000 =
1000-4
Séitani p fFirozenych ¢isel
D. 39000+ 56000= 590 000 + 67 000 = 990 000 + 150 000 =
49 000 + 25000 = 680 000 + 24 000 = 790 000 + 26 000 =
18 000 + 83 000 = 680 000 + 65 000 = 390 000 + 63 000 =
38000+ 8300-= 880 000 + 75 000 = 880 000 + 24 000 =
1000-4
Séitani p fFirozenych ¢isel
E. 79000+ 63000= 190 000 + 66 000 = 290 000 +150 000 =
59 000 + 27 000 = 390 000 + 15 000 = 780 000 +770 000 =
18000+ 3500= 390000+ 8300= 880 000 +570 000 =
88 000 + 66 000 = 780000 + 4400 = 790 000 + 75 000 =
10.09 - 4
Séitani p fFirozenych ¢isel
F. 39000+ 4600= 290 000 + 76 000 = 590 000 + 440 000 =
99 000 + 73000 = 990 000 + 24 000 = 780 000 +460 000 =
39000+ 43000 = 990 000 + 27 000 = 990 000 + 340 000 =

78 000 + 36 000 = 680 000 + 63 000 = 290 000 +260 000 =



